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Combined Graduate Level
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PART - A : GENERAL INTELLIGENCE & REASONING

Direetion : fn gueitivne o [ @ seloct the refoted | 13 (0] 626 by Hal
Jetters wrrd, numiber fFn the given olternaitives | {e) P62 CARLLLL
L. Arthitect - Building : 2 Sealptor ;7 14. (a) 5720 ih) 6710
i) Muserm {5} Stovped (c) 2640 () 4270
i) Chisel 1) Sntug 1% Il: %ﬂmmn :Eﬁ?ﬁhﬂ“
: AR ol g (&) Divimg ving
s :h"h".‘?!] LNPR ) T"; ki Diiree thin = Ja guestioms s, 16 from cmons tre given
o) YSUW (b) SVWY i Nk Skl ma el ars
L VTWY i WYTS alfrermatives select thie one fn #ch the set of number,
2 | iy ot Bk the ot of muarhers given i ohe gueriions
L OCPIL ; QRUX - - DOGIM= ? Given Ser . (4, 25, 41
{a) HLN {b) NQST 16, (3)4,36, 79 ()9, 48, 41
[E'IFS\‘II ld'l RTVX 1"” 16, B4, 1043 “ﬂq‘wl 143
4. TEHK - WYSP | DGIM =Y 17, In the following questions, mumbers of betler are
() JGDA {b) ROLI skipped in between by o partkcular rule. Which of the
() WTQN () ZWT0 fualbowrit weries observe the file ?
£ 1400 12027 (u) BAFHTU (h) ALEGIL
{al 160 {l) 220 | (e} ACFHOU (@) ADFHIL
() 3 (i) 108 | Diireethons ¢ o gyestion pe L, which e of dhe gooen
& 392N TER Y . | prvpdivey wonld be o meantagfil order af the
[4) 1K ) 28 fotiowing *
(c) 3% () 44 1. 1. Geean 2 Rivulet
7. 123136 £ 20) 20 il &
(a) 32 i ()5.2.3. 1.4 (W4,2.5,3,1
iy g €)5.2, 3,41 (94,2, 1.3,5
K. Tiopud 7 A - - Cunming © % Directions @ Armange the followhng wonds s pr
(4] At (B) Foe airder tn Hhe diciinmry
(e | Rubdiy i} Home 19. 1. Preposithon 1 Prepanstively
U, Pestaay  Globmz:7 | 1. Preposierous 4, Preponiderabe
{2} Congratulations - Decaiion P
() iligeni : Succossil (m) 1, 4,1, 53 b11,5,2,4. 3
jc) Meusure ! Seale )5, 4,351 ()4, 2.5 1.3
{ud) Flamifation : Exaltation 38, Which one sei of betters whon sequentially placed m
Directiom = I guestions o, 0 oo 18, find the odd the: gmpw in the grven letier serics shall ecomplits #t 7
reitmverariners) word from the given alternarives ac_cab_baca_oba_sci_
40, fad P B D (8] aubsc {b) nache
{2) Percepion () Discormment
(c]) Penotrudion () [muisvuation | (c) habbb ¢ (&) heton
: | Directlons : fu quetions mo. 21t 24, d sevles o
th. (a) POXSE (b} BCQN given, which amedheo formi) mixoing. Choase the
{e) ARDF {d) MNPR curreed alfernaivg from the given oner that will
12 (o) ABYZ (b CDWX complele the serips

ey EELIV (d) GHTY




0 0,4, 8, 24, 64,078,

{a] 180 {h) i
(&) 280 () 300
12 WTPMIFE T
(n) £V (b X1J
e YU (1YY
15 7, DRED, GUHT, INEW
{a) EFRS b} TGSF ‘
(=) IWVI () ACHN |
3, 500, 137, 184,248, 7 -
{n) 368 i) 316
(e} 362 141328

'H.Nlt:ﬂ'i'llg:il#mhtlhﬂﬂmﬂﬂwlﬂarhi
brother. Which of the following represenits the
expuation to find bes nge 7 )
(o) 2x + 4 {b)dx +2
fclx-4 (d)2n -4 I
26, Suresh's sister s the wife of Wam. Ram v Rami's
trother, Ram's father i Madhur. Sheetal §a Boam's

grnndmotee. Resna i Sheetal’s duughter-io- law, Rohit
i Rani" beothes s wem. Who in Rohit o Susosh

{a) Brothar-in-law b} Son

i) Brother {d) Nephew '

2% In o survey, TN of those surveyed owned & car and
7% of those merveyed owned o TV, I 55% owned
m-mw.w.mwurmmﬁ.
digd mot ypun clther a carora TV 7 |
() 25% (i) 20% |
ek 107 ilh 514 |

2R, Find the wrong mnnber in the series.
12,21, 3245, 60
{a) 6 12
{ey 1 (d) 32 :

19, Ramosh ranks 13th in s clans of stodenti, Theie are 5
shurlents below Suresh ratikwise. How many studesits

are there between Rumesh and Suresh 7
{n) 12 )14
{e) 19 () 18

30, B is pwice an old a8 A but twice younger than F.0 b
bl the wge of A bat 1w teice older thas [, Who is the
second oldess 7
{a) B ik} F
fe) e

3. A twe member comniittes comprising of she male and
o finile member s W bo comvtitted out of five
minles snd three females. thee feermlew, Ms. A
nefises o b b member of the comimittes in which Mr.
B s tnken as the member, 1n how many different ways
can the commities be constitubed
= 11 () 12

(=113 id 14 |

3L Mm. Susheels velebated her wedding anmivesary an
Tuesdday, 30th September 1997, Wh:uwiildhnl?m
her pest wedcing: anngversary on the same diy
(2} 30 September 2003 (b) 30 September 20(M4
() 30 Sepremiber 2002 (d) 30 October 2003

33 A clock guina five minsites overy hoar, What will be
the angle traversed by he second hutd in one nrmute
) 36l b} Bisly 8=
&) A00= () 380~

34, Sudha travels § km 1o the South, Then she tums o the
rigehd el wnilies 4 ke, Then nygain she furms 1o ber right
it emoved ¥ oy forward. Hiw many km away is she

from the starting point 7
(w) 7 (b} 6
(e)4 (d} ¥

AS. From the given nltermative words, select the werd
which cannol be formed jasing the letters of the given
word |

COMPREHENSION'
(a3 COMPRISE (b} PENSION
o} ONFON (d) PREACH

36, From the given altermative wonds, sefect the ward
which can be fommed uning the letters of the given
wond -
‘MULTIFLICATION'
(8} MUTUAL {b) LIMITATION
(O) APFLICATION  (d) NOTION

3. A mun wmried walking West He tamed right, tfien
right ngain and finally tumed lefl. Towards which

direction was he walking now ?
{a] Morth (b South
{e) West i) Enst

36, A mateenem v given followed by four albermative
argumenis. Sclecl the oliernsiive which s s

appropriate.
Statement : Is it necewiary thal education showld he
jub aricnied

Arguments : i
L ¥eu, the sim of education bs 1o prepare persons for

cafing,

0. Yoes, ethecuted persen should dtand on lis own feet
afier complotion of education

N1 No, education shoold be fir poke of knowledgs

only.

V. Mo, one may take up agriculture where sdocarion
i not nocessary,

() Only T and 1] arguments ané strong

{h} Only [ and 1V argumienits are strong

() Omly | urguments is atrong

{d) Oty | and 1T arguments are strong

35 W DANCE i coded as GXOZH, then how will
RIGHT he coded 7 ;
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A | &

. The schopl resuli i incressing

{a) UFIEW () SGKFX
{c) UFIWE () UFWIE
 ITLOSE i coded as | 357 and GAIN is coded as 2468,

what di the figures 4615 tamd for T

{uy NAILS ) SNAIL
{c) LANES {d) SLAIN
Directlen @ i guestion no. 41 omd 42, selecr the
miwriy e frism the given reapuinnes.
(a) 127 (b 31
{ch 217 () 324
TiNER
=y
[ ] 2 L |
YT
fap 4l (b 4%
fe) 50 (dh 38

_'mfwdpnlm,‘d-'wfwm
*o* stanes for smultiplication, *X stands for sdditon,
then = hich ome of the fullowing equueions s comect
E@T-24d=S5xfi=4
by~ 2+4»Sx6=11
() Th=T+d+5x6=341
(dy70 -2 =S xb6=02%

yeur wfler year
Forceasl ihe resall of 2012 from the following
infnrmaieen.
Vear 2006 2007 oo D00 2000 201
sl BTN 0. T 9. THM AN 29N 4T 1R 51.75%
) 51.75% [y 56, 75%
{ie] 4R.00% (d) 57.25%

45, Which dmgram comrectly the relatonship botween

politicin, pocin ok wotren 7

®| ¥

() L]

@

()

L]

dde, Hevw many trinngles are tere in e following Ggure ?

47. Some

(o} 20
{e} 23

B

equitions are $olved on the busis of a ceftain
systim, Find the correct answer for the umsolved
equation on that buss.
T304 w 380 = 34, 44| = 404 = 43,
625 x 400 = 45, mm:mnrmrmr

{a) 33 L ES
(e 43 el 54,
Directions : From the given ancwer fjmnes, selecs
thet e dn wlich the question figure s
Ridddeniemiwoilod.
Probleen Figure
A Figneen
I
) it 3] i)

Dvirections s If e swirror is placesd an the ling MY, then
iwhich af the answer fhpures & the Gisrrect inigge of tee
rven guestinn fapere

Prohiem Fipare

35 | 3%

) b fe) (1]
Directhons 1 A pleve of paper & folded and et s
whien belmw in tie giusrdicn fitres. From the given
answar figwres, indicate kaw (1 will apprar whens
openeid.

50, Quesiun Fgares

B =
Amzwer
0 Il e 5 o
ot
w ) e Gy




PAR

- ()
A1, In Tndin, the concept of seygle cittaendiip is sdopted fom |

{h Englund by U5A
{c) Cannds () France

§2. Who had proposod partyless democracy i indfa
{a} Jayn Prakash Moryyan

(e} ¥inoba Hhave ‘
|
|
|

() §.A. Dange

5. Disinvestmend in Public Sector (s called
() Libernlisstion ) Giobalisation
() Industrinlisation  (d) Privatisation

5. "Drawin finches” refers 10 a grovp of
{a} Finhes b} Lezards
() Birds (1) Ammphitians

58, An individual's sctual standard of living can be
nesessed by
(o] Giroas Nathonal Inimme
(b} Mot Mationa! Income
{e) Per Capiia Income
{d) Disposable Persoml Incoime

S6. An announced by the Finance Mimister fn bis Budgel
speech on 28th Febeuury 200 1, with a view to assin
States in modernizing their stamp and registration |
sdminivirution, E-stamping is expected 0 be rolled
ot i ul] the districts of difTerent States in i perind of
{a) ome yenr () twe year
(e] three yemr () five vear

57, In the budpet for 2001-12, the fscal deficil ™ of
GOP) far 200 1-12 han been projocted ot
) 5.4 [b) 5.0
(c) 46 ididg

S Which wan describod by Dr. IR Ambedkar as the
“hoeaert il soul® of the Constiion
{a} Right 1o Equality
(b} Rimlet agitest Exploitation
(<) Right to Constimutsonal Remedics
{d) Right io Freedom of Religion

59, Which is not the concem of the bocal gavernment 7
{0} Publiz Health (kb Samieation
() Liow amd Ohvder (d) Pubbe Linlity Serviees

8. The Chall Drsohodience Movement was lnmched by
Mahatma Gandhi in

{a} 1918 (&) 1930 |
{e) 193] (d) 192

61 What is the maximain sirength prescribed for Stafe
Legislative Asseemblies
() 350 {b) &dx
(&) 5040 (d) 750

&L Mwhthplumﬂ:ﬂplwuﬂul’-ﬂr!mlmlqmnr
given pormisiion 1o tmde build & fctory by the
Muphule in 1651 ¥

GEMNERAL

AWARENESS

() Calciitin [l) Cassion Pioras
{&) Singur (el Edundwuan

B3 Fa-hien viniled Indin during the reign of ©
(n) Chundragupta 1T (b} Sanndeagipia
&) Rnmvuggyis () Kunurgupta

6. Which Sikh Gurn called imsell the “Sachoha
Badahah® T

(@) Curu Cebeingd smﬂll {h) Gl Hil-lﬁln‘ll‘ld

(=) Ciurn Teph Bahadus (d) Guru Agim Dey

65, The oldest Internationil airline s
(=) Dubeh B1M (b1 Acxr Coanads
() Quaniws Adrways  (d) Adr Sohara
b6, D is an slend of7
() Dasman () G
(&) Crjarmt {dy Maharanhin
&7, Which fromm the following i » lnd-locked e 7
{n} Red Sen (b} Thosor Seu
{ch Maorth Seu {d) Aral Sea
68, Shivasamiidrum Falls i found in the courses of rmver
(=} Krishna ) Godawari
ie) Cauvery {dd) Mahurindd
69, Whi gave the sloegan " Inguitab Zindabod™ 7
() Chandrashekhar Axad
(b} Subhosh Chando Boso
(&) Bhaga Sigh
(d) lghal

Tl The podition of Ingims Railways nctwork i e world is
i) necomad (B} third
[} fonrth id) hifh

T, I¥NA fingesprinting in ised o identify e
) Parents (b} Rapist

i} Thieves () Al The above
T The normial cholesierol level in nman Blood w
£ H0- 120 mg% ) 120140 mgh
(e 140180 mes (N 180-200 mghs
7Y, Which of the fillowing are wurm-hlopded seinaads
() Whiiles (b)) Whale sharks
() Alyies {d} Drnco
T4, Syrinx 1= the voioe oy in
() Amphitians b Reptikes
(¢} Birds () Marmmals

T8 The dried fhower s are wiod o 8 spece in
() Cardamam (b} Cinnsmaon
e} Cloves {d}) Saffrom
Th. The tiwsuc in man where no cel) division ocenrs aller
oirihs i
in) skedetal (b} nerves
() comeetive {d} germnal
b ‘I‘rnpr-fl-h:t: s the hothes purt of the pimosphers

bocaune
) ot s choimit o e Sum
{h) there are charged partiches in i




{ 4f ks heated bry the Eanh"s wirfsce
() heat by genorated in #

T, The sutermont Liyer of the Sun ls eallad
{#) Chresmosphere i) Photosphere
(o) Cotona () Lithosphere

T, Where was India”s first comgaiter inatnlied 7
(5] Indjan tuatiuie of Technology, Defhi
i) inabian Mustimiee of Science, Bangnlore
() lndian lron & Steel Co, Lid,, Bumpis
(i) Drdian Statistiizal Tnstitute, Caleutin

B, Which of the following cun be used to absorb neutrom
1o gonire] the chain reaction doring auolenr (ssion™
(o) Baroa (b) Heavy waler
(e} Urnniuims id) Phulndium

#1. Hydrogen homp is hased o the principle af
{ah controbled fssion reaction
(b} arcomtnolled fsnion rescthon
{e) controlled fusid fenction
(i) unconinollod fusion renction

42, Asper Builwiry Budget for 200 1-12, the seniot citizen
concession for men has been incrensed from

(o) 298 3000 . (b) 30% o 40%
f) AP s 500 () 30% w 50P%
BY. The moustor o-cumi-tainans  which hit

earthupuak
fapan on March 11, 2011 has moved the country’s
main island, Honaku, by nbout

{=]) vwrr fect (b} three foet
() five fest (@) eight fioct

#4. What is the commonly wsed for mensuring the speed
of dirta transmaasig T
() Megu Herte {b) Chansciers per socomi
ic) Bits por seoond () Nano seconds

85, Which type of reaction produces the most harmiul
radintion T
{a} Fumion resction
(b} Fissiom renction
(€) Chiemiss] reaction
{ulj PhisieyChermcal feaction
mwm.wurfmhmmm' Elass
retnfireed plastic | v

() Pyron gl () Flamt glass
| €] Qnanriz gliss () Fibee jglass
KT, Which of the following metah commses Iimi-imi divcase 7
(&) Calmism (b} Chromizom
fc) Cobalt {d) Copper

88, Cilyool is mided 1o svintlon gaoline becusine it
{8} reduces cvaporation of petrol
(B} mcreines elficiency of patrol
tc) prevents froeelng of pemrol
() reduoes consmption of petrol
#9, The largent ccomystem of the Earh s

() Bigene b) Hydrosphero
() Lithimphers 1) Biowphere
90, In & food chiin, the solar eneryy ulitized by plinls @
sty
{n) 10 percent (b) | percent
i) 0.1 perceni {d) 0.01 pereent
91, Supersonic jet caes pollution by thinming of
() O lyer k) O, layer
() S0, Inyer () €O layer

9L OTHEC stards for
() Oeenn Thernal Encryry Conservition
(b} (il nud Thermal Energy Connervation
{e) Ol and Thermal Energy Conventin
{d) Oezan Thenmal Energy Conversion
91, Which of the following Folk dances s assocanted with
Hajanthagn 7
{a) Hauf {t) Jhors
() Veadhi () Suiwim

94. ‘Which troubled mode! recalled recemly by the Indian
nutmmobile gianl Manui Suruki for replacement of

Tiaualty fuel purmp ket :
(i Maruti K00 (b} Manu A-Star
{c) Wagon R {d) Baleni

95 As a3 ‘purt of Human Resowce Development
Ministry's “boiin gain® 1o airact globol talent,
14 world class universines to attrct ghobal talents ane
propaoted to be set up in vanous states. Name the stxte
from the following where no univenily of the
afresaid type i proposed 1o bo locaied.

{a) Pramjub %) Bihar

[} Rajasthon (e} Uninrnochnd
Bh. Wha discovered South Pole ¥

() Robert Peary b} Armmduen

(e} John Cabot {d) Tasrman
7. Who imvenied penicillin ?

() Alexander Fleming

b} Louks Pasteur

{6 Diresar

{d} Edward Jonner

$l. 201K FIFA World Cup would be held ia
{) Rusaia b} Catar
i) Franie (d) Netherlands
99, Wha of the following was not the recipient of Nobel
Prize in Ecomomics 20007
ia) Peter A [Hamond
b)) Chinsfopher Placorides
fc]) Lui Xisobo
{d} Dale Moriensen
100, Which of the following books @ mthores by V.5,
Waipaul 7
(b A House for Mr. Biswas
(e} Witnnens the Night
(d} Tender Hooks




100, IWa® b=3a 4 36 = af, then the value of [3* 54+5%3) {n) 2 (b4
o - (€14 {diH
fa) 10 ih) & 3 21 3
fei 2 o | Thu\lllu-ut'-i' :i = "'% . ;1_: s
- = 2k o 3=
102, Simpliy : 00347 QO34T 0047 + (096 (@) 1653 B &3
(AOB4T)" = (34T)(O9651] + (9E53)" 3 fz
{a) 09306 " (b) 10009 [l O b
fe 10080 ] 113 A m:qunmm_ sﬂﬂu&mﬂ n 12 dayn [ and C
£ e T tismether dho 18 1 | n A s efficiency i twhee that
103, Ffj:-;— 128 { pi *.3.”'[; -‘; +1=% nﬂ;; then the chvys roguired for B alone o fitish the
1a 1] Wik (s
() I_Ii__ {d) 125 | {a} Bl {h} 30
[ [ {c}r20 () 15
1o iIL||” Too s e, oquals 134, The product of two aumbers is 2008 mod ther HCF
its i | s 13 The number of such pairs s
(€} 16 () 36 ! {h2
: (e d (dyd

b5, preltaplisd u nanersd pumber by 18 and snetlicr by 21
; = | A Twoequal vensels are filled with the mithures of waler
and uelded the products, Which one of the following and melk in thie netin ol 3 18 amd 5 0 3 vespectively, I

Id b the 7 :
Eﬁ'm i (b} 2008 the mextures are poisred fite o thind vessel, the rutio of
{€) 2006 14} 2002 waler atad milk m the thind vessel will be
. - Py =
106, The prodice of neo numdors o 45 and ther dilTesence | ::;ll';"l', f:i l!a:;':
4_The sum;of : | gt
E:;m e “““”"[.‘:ifm”“”mh V16, | am theee timies us ol s Ty som. 15 vesss bonee. |
@ () 106 llu.bcmhllﬂldulm}'muT}:rmn:ﬂqurami:
S —— ) 48 years (b) 10 yemrs f
1. |,||ii-f1¢|:W+ .'nl-ih ‘.Ii'm“ V169 =9 () &4 years (72 years
2 117, Three bell ring similtamemoshy ot 11 wm, They ring o
lﬂ”‘ (b} rfn reguilar dmtervals of M) ounutes, 30 minwes, 20
L 1"-”‘| minuten respectivety, Tho vme when all the three ring
108, The squise root ol 14+ 6% s | together mext s
{a)2+ 45 b3 =8 ia) 2pum {b} | pm
ey s+ () 36 2% (] 115 pm. () 1300 pum
109, When 231 is divided by 3 the rerminder is 1L A copper wine s bant in the form of sn equitatersd
{uh4 iby 3 a [ trignghe s bas sren 12103 cen” | 17 the sasie wire i
{12 idi 1 bent o the form of o cirche, ﬂu area (i om’” )
110, The vabee of s U onclused ay the wire in (Take =)
i 7
I+ pa—— . (n) 364 5 () 3.5
1+ T oy H6.5 (16395
I+ i | 119, A child seabiapen o cone made up od clay of helght 24
14 = | ﬂﬁmtdradi_‘nlflmhmnqmﬂt.ﬂwndm-lincm]nf
jud the wpbere is
3 {ul& {hj12
il E! “1’ II.T "'::M (dax
E 3 120, Water Nows b o mnk which s 200 m long and |59
u'l-E i) K m wide, through o pipe of cross-section 0,3 m = 0.3 m
21 i At 20 kervhiir, Thes ihe tine (i Dusiar) far the witer

111, The unit digit in the product (122)"" s : leyel in the tank to resch 8 m s

B S5 Combined Sadusa Low T ) Exor 201 =

[




{3y 50
i) 150

i

D21 A el B caas o o i 12 s, 1 i C czm o the name |

stk i 13 s, sl A oo o the sarne worko i 20 daiys.
The time sken by A, 15 and C 1o do'Se sume work i

() 5 diyn 1) 1 days
i) |5 duys (48200 darys

122, A ks S04 s efTicient ad BUC does half of the work does
the work in 20 dayn; then A, B and ¢ ingether can ¢lo
the wm‘l.u
fl‘iiid::n th'rﬂ—;ﬂtri
(&) 6 days (d) 7 days

128 A bimn boight sn article lond ot Re 1500 with a
discount of 20% offered on the list price. 'Mm
pelefitional discount must b offcred 10 the man
hing the nef price u R 1, 1042 .
(a) §% ib) 107
) 2% (d) 15% :

i L ' b3t ot

e faad S T A i
{n 2 (b} 3
()4 [C1R

125, The dhamrieter of & wheel is 98 em. The number of
revolitions in which it will haee o cover & distance of
1240 m s |
() 500 () 60}
{2} T {d) ROy

i26. Tnan cquinteral winngle ABC of sade 10 cm, the side
B i triseimoed o D. Then the {incm) of ADvis
{a) WT m 1
m..."? wﬂu
3

1. Thtmpmnhn-uhulh.m After allowing a
discount of 109, o gninof 12.5% wis made, Then the
mairkeesd pirlece of the artiele
() R 1,000 () Ra. 1,100
{e) R, 1,200 () Rs. .00
The putio of the inesme io the expenditure of o fmily
b 102 701 thie family's expenses are R, 10,500, then
waving of the Mumily is

i) Ha, 10,000

(=) Bs 4,500

{ch Ra 4,042 () Rs 5,000

Thee wvérago muihematics marks of rwo Sschion A ad
B of Clnss IX in the amusl cxamination is 74. The
averuge marks of Section A s 775 nod dat of Sectinn
H ia 70, Tl entio of the member of students of Sectios

124,

129

Aand How
(&) T8 w73
()7 {dpK:s

130,

The iverage welght of o group of 20 boys wos |

ﬂlﬂuﬁ:wﬂglﬁmmﬂuﬂm“uwﬂlﬂ;
This torrect myecage woihl in
() BE.0% ky () RO2% kg
(v B934 kg () #9588 kg
The ratio of the wohines of weater and glyeering in 240
e i mixtmre 1 1 2 3 Thee quumtity of wates (in e} that
Mh;ﬂdmhmummmulmmmmar
thie volumas of water and glyverine bocomes 2 : 3

| (n) 55 (1) 0

(c) A28 {d} 64

| 132, Al present, the mtio of the uges of Migyn st Chaya is
[ 2 5 and filteen Frow mow, the riatio will potchamged w
| B 2 K. Maya's presont poe in
| [a) 21 yuirs (B 24 years
|
il

]
[
[
[
131,

() 30 years () 41} yenrs

133, A man dold 20 spples for e, 100 and gaised 20/

Hww mary wpyeles died Dt by for Bs. 10007

{u) 20 (b2

fch 24 (d) 28

A rectangnilar shieol ol metal ix 40 cin by 15 oo Equal

sqnarch of shde 4 cn are cul GFT b the comers mnd she

remeinder ix folded up 1o form an open rectangular

bax, The volume of the box

[l‘IH‘?ﬁun (b P86 emi

) 6l ' L

135, 1 7H in divided ineo three parts which are [ e rutio
I:I-"fi:ln'ﬁ.ll'lcm‘ﬂ]r[lmll :

Q 1] 1= d -

W3~ My @iy @i

136, The selling priee of 10 aanges m the cost prics af 13
ordnger. Then the profit percentage s

by 10
() 13% {dy 3%

137, ‘The marked price of & mdio is R 480, The
shopkeeper wllows o disooant of 107 and gins 8%, Tf
o discounb (s alkowed, Ihs guln percenl winli be
] 6% by 155% {c)20.5% (d) 20

L

%

U IR The price of auget juacs wp by 20%. I 8 housewife

wdrEs ihe expensen on sagsr o remain the same, khe
shoald redisve the conswmgiio by

- 6 =%
tny15 5\ (L 3

{6 208 () 25%

L In @ Mctory 60% of the workor are above 30 years
il ol theese 7% mre imales wnad the revd we females. 10
there are 1350 make workens above 300 years, the ol
i of workers in (e fociwty in
{a) Jong {3 2001 {180 () 1500

140, Wilkidng of 34 ol has sl qud,anmh': 172 lwnars

Qo Fhis easml v 8o cove the s distence, inhours, &

I
| fap4 5 {hi4 {453 llil 3

culevlited 1o be B84 kg nmd bbowas baber discoversd |




Tk The floor of o romm i of sizs 4 mx 3 mond i height
83 in The wulls and ceiling of {he roor reqabe
panting. Th sres bo be Paimted

{a) Bti m* ) 54 m"
fe)ddm’ () 38
142, When the price of o article wan reduced by 2005 Ha sale

imeremsed by 80% What v the nel effect oe the dike 7
() A% imcToaRe () 4% decrcane

() iy imcrmase [ 75% increase

A et of meney becomes cight tmesin 3 yeus, i e ot
 compumded sl In o s titne will the saime’
T ik she s cxergwnanicl mss bevomme slos imes 7

143,

() & venrs (b} 4 vears

(€1 § yeurs fei & yenrs
14,

prpciple and the wumber of yeurs e equal 1o mwie

perent por annun, The e per shnon (s

() %, ) 1/9%

il 3 lt 1) 3 10%

The differisit betwoin dinple interest and compodnd
nterest of a certain sum of moncy o 20% per anmem |
fior 2 years is Ms. 48, Thien (he som s |

145,

{a) e 1,000 () Ba 1200,
(e} Ka 1,500 (d} R 2,000
14, Shrs X goes i bis office: by sconter ot a specd of 30 |

kmh amd resches 6 mimotes: eardier. If he goes of &
spend of 24 ki, he rosches 5 mimies lae nul
destance to hin ¢fice is |
{a) 20 km () 2] km

{2} 22 ke {d) 34l

Directinne (147-1800 1 The ple chort pows Selow
sho fhe spomiding of @ family o vgriows Renol

PART - D : ENGLISH

during a month, Sudy ke graph aml anover
queaticnis 47 fo 50,

Tho shmple inieesi o o sinn of money b 19 of the | 147. Fmd!?m on Henl is whot percent of expendinre

(a) 135% (b)) 156%:
(c) 167% () 1720,
148. Which three expenditeres together have o cenmnl
anphe of 168"
() Fuaed, Chotting anet Cthers
{b) Fuel, Education mid Chhers
(e} Clothing, Retd i Othérs
(d) Education, Reni gl Others

| 148, 1 the wtad income of the family w Re 25,000, then the

amonmt spent on Rent and Food together s

fa¥Bs. 17250 i) Jes. 14,750
{c) R, 11,250 i) Ra. %500
150, Wihat {s the ratio of (he expenses on Educution 1o the
eapenincs on Food
{n)]:2 {by3:1
{c)3:5 53

COMPREHENSION

MHreeibinms { 1251 lo 155) @ Some of ithe sendences kive

errory and soune e correch Find onn which parial |
it b ke e evvar corveaponding ko the
approgelisie teier fa, & o i @ sentenor i froe from
errory, oorresposding g fl) o the Jdnnier Shie,

A senior doctor (o) expresed copcem (BY sbom
playricinns rocomemended the vaceitie () Mo ermor, (d)
W have dascussing fu) all the known mecharms i
(b of phvsicul growih. (eY No error, (d)

Children enjoy hatening 1w (0) ghost stories (b)Y
eapeciilly on Halloween ight. (el Na eivor. (d)
T{) hava (b) many warks to do, () N ermr, (d)
There are so many filths (n)’ ol sroond (B the place,
(€} Mo graur. (i)
Directions (156-160) :

151

]‘“l
155

Sentewces are given with

ek oy i fillesd dme it e alppreipirrate worsl, Fowr
affcrmativis are supgesivd o euch guestion. Choose

e cowrect alrernstive ol of te for and inelicate itin
e Aty Shew

156, The butlding b oot wle and must be diram
(n]) pull (B} puilling
fc) pulled () prualts

| 15T, There is something wonderful ... him.

(a} ul (B} bt
(e} fior () bnekiche

IS8, Thie senyg is the play-cannot be delated ol ds ...
1y the afory.
(=) isbervenal (b} miate
f} exacting {d} imtegral

159, She remained 4 ..., all ber life.
) wpbnater i) bachalor
(e} unmarried i1 nirigle




1ﬂ.nummyuhwﬂuﬁﬁ#dﬂ.u-m!

amvirels bevame e when they see humans.
(8 prrowvkosd (18} nlerbed |
() nptreasive {d} theeatened

MHrectiony (160-065) 1 aut of the finr alermenive, 1
choune the cme whith best exprestes the meantng of |

the grven word und ik i o the Mn-r Sl
L6l LUCTONTY
(o) Fladity (b} Mhm
() Clarity (d) Flussy
1R INDICT
() Impdicmie (b} Eliade
() Chfge (d) Manifies
163, APPRAISE
(Al Aceuse i) Praise
{c) Approciate () Judge
I, DELLIGE
{a) Confusson () Deception
(&) Flood () Wenpaon
165, PREPONDERAMCE
(a) Pre-eounince () Dhomanance
(e) Dominesring () Proocompat
Drirecthoms (1661700 1 Chal pof the four alrernatives,
chrmwe the word apposite B megiting S e i

waord il myerk i inn the Arviver Shect,

166, INVINCIBELE
() Sarall (b) Invisible
{e] Vulnerable {d} Reachabie
167, INOFFENSIVE
(@} Sensitive () Orgaais TTH
ic) Sensible () Bude
168, DIVLILLGE
() Conceal i) Disgulie
e} Oppress () Reveal
169, DHSC0RD
{8) Harmiiy mkﬂh
(e} Acoeplinee Mrcidity
178, MAMMOTH ‘
ja) it th} Blﬂﬂ.ﬂﬂli
Ie) Huge
. Directinns {mqm ur -r.rmmu ure gi"m
S e mesirivig of the gven ldiom phrase. Chooie

ﬁnmﬂwuﬁhhhﬂwﬂrmmm’ﬂrr
Lo Phrare andd mark in the Anpwver Sheer,

171, Ti ke 1o hewt
() 1o be enconraged (b)Y o gricve over

e} io Hke i) o hate

172 Yeoman's porvice
(a) meddical help ) encellent work
) social wurk id) hard work

173, To fuee the omwic
(&) 1o erfioy & misbeal pecital
b} to bear the conzequences

fe) to Hve 10 0 plensuit adnsphere
{él) 1o have & difficult me

—

1M, Te put g with

{n} to sccommaodate [h!lmu!

(e} 1o underviznd () 1o tolermbe

To call & a day L

()t comelude proceedings

(b b mitiate pRoceedinga

(e o woirk throgh the day

() Nogw of the abwove

Directions (176-180) & A seniencr or wderlined part

tierewy” 7 jgiven wiiel may veed leyrovement

Alréritived abg givedi al fa), (0] sl £l bielme, wiieh

may e q better aption, fm cage o Smprdvement i

neroadend, yowr [ i thie Anxuor Shovt

This man whaem | thought was theroughly. bobest

prerved to be u wwirdber.

(&) The mmn whom | theueht wis ihosoujgdsly honess
provied a wuimdler,

{b) The mun who | through was thoroughly brmest
proved o be  swindler.

(&) The mna s whiseri | thoajght was thoroughty honess
proved fio be o swindler

() Wi gupruverment

o mooner hud the dividend boen doclared, 1he motices

were senl oul

{m) The company bad handly declared the dividend nll
* e mitigres sete sont for mailing

b} They hawd po sooner deciared the dividend then the
notices went st oul

{e) Handly hod the dividend been declired tuin the
OOABCES WS BeTi-omt

{d) No improvemest. -

Ridimg upen his hiwse, the tiger burmped at him.

() Rading upon the tger, this honse jumpod m him.

b} The tigies pemped a1 him while be wia ridimi upon
hils horse.

(] The tger mde of hum whils be was junsjing upsn
s horse. .

175.

17&.

1.

178,

{d) Mo i
1 e black and while miat have been your tevmm duwn,
fa) [ mist have in black snd white your enms dovn.
(B) 1 st B youur Termms i black and white down,
{e] 1 must have your terms down ln blick md wiiie.
il Mo improveent
180, Wihen we cirte out of the reetanmnl it alf pat cleven.
() When wee hisd exvme out of ihe restarmi.
B After we cime oul of the restagrant
() Whien wi hive cistie oiit O redairmn.
id) Mo improvement.
Dirvetions (1B1-185) ¢ ohur of fowr alicimitives,
chouse the pne witdch con sulsrlnaed, for the given
wondymiener i indivate 00 By kemimg the
apyriypricnle reohaphe | §in e droaer Sl
181, Code of diplomatic etquents snd precedence

{a) Staicirmanihip () Dhiplaariacy
{c) Hiemrchy ey Prosocol

i 8
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182 To renounce o high lpmiiuul'uﬁnﬂlyw

(2] Abduct

ic) Absont HJI ﬁhﬁm
183, Not io be moved by entreaty

[} Rigparous () Weglipen

() Inexonsble (d) Despotic
14, An object oF partion seTving as & sample

{n) Sysecification b)) Spectre

i€} Spebincte (d) Specimen
185, The practice of nuhmitting & prqnul & popular vole

(a) Election {b} Reference

fe) {d) Referendum

Directions (1B6-190) @ Groups of foiie words are |

| Scignce moans

Passape
means knowlodipe, gy oot all knowladge w
science. | lenowr fioim ey own cvesiglil dhat owr dog
| Chippry ke papayac | know from o bonk that Albar was
the (191) of Bisbar,and (192) i 1605; sl | lenow (193)

| the i that boain did mot o well b de ()9) Test
mankches. Wie com call these (1950 of kewlecize (1960, bt
they ane pol sclence. Science (197 ) wiih foucis, but poi
with fiscts which have (1983 1o dio with each sdlier, like ihe

fincts about owr dog, ericket mil e Mughul rler; those

fcts are not relaged (|99, mnd s liove nuthing ( 30) wit

ACHCNCE. Sceenoe tarts with obasrvibon

191, {a) grandson {h) Cirand mtbier
gefendm ek grap, one werd @3 corrretly el Find | {c} grand nephew {d) win
the correctly spall word aad mark your anrwer in the | jy2. {8) gone () il
Aniviwer Sheyt, : | i) disappcarsd i) absenied
186, (a) munditary i} circulatry | 193, (a)on (B in
1) tempatacy () sopieny (c) since fd) from,
1. """""“’?““I (b) initative 194, (a) ol (b} erdinary
18K, ::;dhlnpg ::;pﬂr (e} b EX o
i) PEiT: 195, (a) pioces (b} petoe
199, () il i b} e faricus (&) whale (d) Block
(¢ ) masaber i} loeuacions 196. “:E, {:J' ﬂﬂmﬂ
190, (a) cortege & y (e (e} blame
[:gmlm :m“ﬂw 197, (a) ntirts (b) mops
Mrirections (191-200) : in fie follrwing pasrage i} proses (d) drives
of the wewdy fretve Bowen left oot, Flrst read the passape | 194, (n)no (151 neither
MMJHMWM;M Then filf in () mor () mothing
ther Bl with she help of the altermaivey given Mark | 199 (a) by thal way (B} i oy way
VibF daaer i the Ansiver Shest | () from the slde {d}) b0 aaifition 1o
200, () 1o lic {h) w0 speak
(2} 10 sleep ) 10 do ‘.-Ji-
Anxwer-Sheet
e o e m B B TR G T Wk 0 R el
&::; -&m _gm &nh o T Y Em LTI T
3k 0 L jeb B D W W) 1) W ) (M b
FLE R T
! J ¥ ' 4 (=) L i) i B o)
&, () 82w : i 'ﬂT 4] : oy R ﬁ [T T : 1] % 1Ih|-r
By RN 5}; L S ™ S T ™ O W . (M ow
dieEciRcipcRoipepaz iRt as 2k
iy : e S L L e R ) W G
. i .;l# ﬁ-mmm (TR T T T T T,
'ﬁl:.;: :zmﬁﬁ %m-gm-g:l _gm :ﬁm ne, (@ :ﬁ:m
k(B L - - i ¥ (s} . fa kM w til
L B N T T S T U PV
& :: g m lﬂ-m H“: -FI- # m # T g [ T P 150, o
; il s L L Eot LU Lofbh R i TRR w) e G
WLk 8L ko -_Em L | R T TR T T ™ i)
R O A T ]
CEME B WEE iy IR Gl TR (D R () DL e W 6D MR (o) UM (W) e ()
[ OWG (s ML (b R GO IR () MR () MR e T G IR b i mem
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